Assignment (Week 9): 

1)Estimate Klein’s models with both OLS and TSLS

2) Which of them do you prefer?

Procedures:

1) Estimate the models with OLS

a. Check signs of the parameters (+/-)

b. Check t-values (significant ?)

c. Check R-sq (or R-sq.adj.)

d. Try to interpret the model. Does it make sence?

e. Check the residuals (Const. variance?)

f. Any non-linearity problems?

g. Problems with collinearity?

2) Estimate the models with TSLS

a. Are there any reason for doing this?

b. Does this model make more sense?

c. Are the TSLS results close to the OLS results?

